UP Board Solutions for Class 7 Maths Chapter 9 I
ST UEUS

™ 9 (a)

UH 1.

33 T uel & IHAS uavs fafauy
() 7xy, 35 x°y?

RSE

7xy$‘IUF|@'U€: 7XXXY
35x2y2$‘IUF|@'U€ SH5EXTXXXXXYXY
SHI FF UAEUS = 7 x x x y

= 7Xy

(ii) 4m?, 6m?, 8m3

el
4m2$wg=2x2xmxmx
6m2$‘IUFI"@I'US':2x3xmxm
8m3$1IUF|"\§'U€=2x2x2xmxmxm
JHYHE UAEUS = 2 x m x m = 2m?>
(iii) 3a, 21 ab

Bd:

3a$1IUF|E'U€:3xa
21a$‘IUF|"@|'U_5'=3x7xaxb
JUYAY TUFEUS = 3 x a = 3a

U 2.

S 7pq + 8qr + 3qs P Td GWW@I_@W:
q

@)r

(iii) p+q+r

(iv) 3s

Bd:

7pq$‘IUF|"@|'U3=7 XqXx1
8qr${IUF|EU€=2x2x2qur
3qs & UMMUS = 3 x q x s
IHYMNY TUHETS = q



U4 3.

&SP b (6a — b) + 2¢ (6a + b) P UG BT SHIAME UFEUS GRT
@b

(ii) 2¢

(iii) (ba — b)

(ivia-b

SE

b (6a — b) & TUFEUS = b x (6a — b)

2¢ (6a — b) & TUFRIUS =2 x cx (6a — b)

JYYE UHETS = (62 — b)

U4 4.

frafafad & urrRavs Hife
(i) 5x* — 25xy

Bd:

5X? — 25Xy

= 5X (X — 5y)

(ii) 9a® — 6ax

ed:

9a” — 6ax

= 3a (3a — 2x)

(iii) 36ab — 60 a°be
ed:

36 a®b — 60 aZbc

= 12ab(3a — 5ac)

(iv) 6P+ 8P2-4P3
T4 :6P + 8P — 4P3
= 2P (3 + 4P — 2P?)

(v) 3a%be + 6ab3c + 9abc?
o

3a%bc + 6ab?c + 9abc?
=3abc (a + 2b = 3¢)
U¥H 5.
fgfefad & JUFRaUS Hifoig
() x(x-2)+3 (x-2)
ed:

X(x—-2)+3x—-2)
=(x-2)(x+3)



(i) 7(a—a) + 7(4 — a)
?d:
7(a—a)+7(4-a)
=(a-4)-7(a-4)=o0
(iii) 2y (y + 5)-3(y + 5)
ed:
2y(y +5) - 3(y +5)
=(y+5)(2y-3)

@Gv) (d-7) +7(d-7)
8d:(d-7)* +7(d-7)
=d-y)?+7(d-7)
=d-y)+d=-7+7)
=(d-7)xd

=d(d -7)

(WMa(a-5) +9(5-a)
ed:
a(a-5)+9(5—a)
=a(a-b)+9(5-a)

=(a-5)(a-9)
(vi) (z-2) -3 (z-2)
ed:

(z—-2)*-3(z-2)
=(z-2)(z-2-3)
=(z-2)(z-5)

(vii) 17 (a +3) +17 (3 — a)
ed:
17(a+3)+17(3—a)
=17(a+3)—-17(a—3)
=17(a+3—-a+3)
=17 x 6 =102

ST 9 (b)

UH 1.

fAaferRad o] & TUFRIUS HIfSY, Safh ssdh! & Udd Ug | Udh
IHIME TUMHETS §

() x(y-z) +4 (y-2)




ed:
x(y-2)+4 -2
=(y-2z)(x+4)

(ii) 2(5 + b)-7 (5+ b)
ed:
2(5+b)-7(5+b)
=(5+b)(2-y)
=-5(5 +b)

(iii) y(a® + x) —a* =x)
ed:

y(a® + x) — a® =x)
=(a®+x) (y-1)

(Giv)a(a+3)-5(3+a)

?d:

a(a+3)-5(3+a),
=(@+3)(9-5)

UY 2.

frafafed & TurRaus 1 S|
() x3+2x>=5x+10

ed:

x3 + 2x2 + 5X + 10
=x*(x+2) +5(x + 2)
=(x+2)(x2+5)

(ii) 3ax — 6xy + 8by — g4ab

ed:

3ax — 6xy + 8by — 4ab

= 3ax — 6xy -4ab + 8by

= 3x (a — 2y) — 4b (a — 2y)

= (a—2y) (3x — 4b)

(iii) ax + cx’ + ay-bx + ¢y

ed:

ax? + cx® + ay® — by® — bx? +cy?
= ax? — bx® + ¢x? + ay? — by? + cy?
=x*(a-b+c)+y*(a—b+c)
=(a—-b+c)x*+y?)



(iv) ab? - (a-c) b-c
ed:
ab>-(a—-c)b-c
=ab®?—-ab+bc—-c
=ab(-1)+cb-1)
=(b-1)(ab+1)

(v) p°>q - pr* - pq + r*
o4

p*q - pq® - pq + r?
=pq(p-1)-1*(p—-1)
=(p-1) (pq—-17)

UH 3.
HSFP 50Xy +10yX + 30Xy + 6y DI
TUFREUS I | G x = 1,y = 2 BT al el T TP o UFEUE
T HIF J1d DR
ed:
50x%y + 10y°X + 30Xy + 6y~
= 10y°X + 50X%y + 6y? + 30Xy
= 10xy (y + 5%) + 6y (v + 5X%)
= (y + 5%) (10xy +6y)
e x =1, dUTy = 2 WA W
=(x+5%x1)(10x1x2+6x2)
=(2+5)(20+12)
=7 X 32 =224
U4 4.
I JHHIUT YT Bt YOITE 1 Y, ForepT
gD iab |

ed:

DI A BT TG = L x YR x SHdATs
Biah = 1 x YR x SaTg

ab® + b? = 3MYR x FdTS

AT YSIT = b AT (a + b)

S&IdT 319 9

U 1.

fAafaRad il & uHETe Hifo :
(i) g4a—12

ed:

4a—12

=4 (a-3)




(A1) ac—be+c+cb
Bd
ac—bc+c+cb
=(a—-b+c+Db)
=c(a+c)

(iii) 36P +45 P
B?d:

36P + 45P3

(4 + 5P?)

(iv) y* - 8ay
ed:

y? — 8ay = 9P
=y(y - 8a)

(v) 7a +7b
ed:

7a + 7b
=7(a+b)

(vi) 3a3x — 45a%x — 18a
Bd:

3a3x — 45a%x — 18a
=3a(a — 15ax — 6)

UH 2.
fGfIRId P! ORI S & TERIT § IR Diforg
. Ix —15yx
(1) Sy-1
. 3x— 15yx
LR

- 3K(1 — 5Y)

- —3?{853""'11 = 3x
on OX* lﬂx3~+ 8x?
(i) %

. 6x*+ 10x° + 8%?
' 2%’

_ 2 (3x*+5x +4)

2x?

_ 22X (3% + 5x +4)
e

=3x2+5x+4



U 3.

fAAfeIRad ol & TUrEs Hifog
(i) xy (z® + a?)- x?za — y°za
°ed:

= xy (z* + a®) — x*za — y*za
= xyz? + xya® — x°za — y*za
= xyz? — x°za +xya® — y*za
= xy(yz — xa) + ya(xa — yz)
(yz — xa) (xy —ya)

(ii). p>*+p+q-1-p*-pq
ed:
pd+p+q-1-p*-pq
=p3-pq+p-p*+q-1
=p(p*-q+1)-1(p*-q+1)
=(p*-q+1)(p-1)

(iii). 2ab? — aby + 2cby — cy?
?d:

2ab? — aby + 2cby — cy?

= 2ab? — aby + 2cby — cy?
=ab(2b-y) +cy (2b—y)
=(2b —y) (ab + cy)

(VD) x* +y3 +xy (y + 1)
?d:

x?+y3+xy(y +1)

= X2+ y3 + Xy + Xy

= x>+ Xy + XyZ + y3

= x(x +y) + y*(x +y)
=(x+y) x+y?)

UH 4.

Fafafad & aF UFREs &1 IgrdT ¥ I1d Hifog
(1) 23x72 +77x 72

Bed:

23 X 72 + 77 X 72

=72(23 + 77)

=72 X 100 = 7200

(ii) 56 x 25 — 25 x 39 — 25 x 17
ed:

56 X 25 — 25 X 39 — 25 X 17
25(56 — 39 — 17)

= 25 x (56 — 56)

=25x0=0



(iii) 27 x 47 + 55 x 8 + 27 x 53 + 45 x
8

ed:

27 X 47+ 55 x 8+ 27 x 53 + 45 % 8
=27%x47+27%x53+55%x8+45x%x8
=27 x (47 + 53) + 8(55 + 45)

=27 x 100 + 8 x 100

= 2700 + 800 = 3500

U 5.

g = yikw

(1) ut + (at?) = (u + at) (t)

(i) a3 —a®b?—-ab+b3=(a-b) (a2 -b)
(iii) 3x® + 6x%y + 9xy® = (3x) (X + 2xy + 3y?)





